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1. (a What 18 ‘a sym i‘f‘flogle? the L
5 uses of symbolamlogw 2

symboh sa the fonowmg statament& ;

- in brackets:
i uamg 8uggct¢t¢d notatigns n T 2x3=6

U Ajay and Sujay both ‘were not
selected for thc Job (A, S). i

(Mmawrl _




(2 )
Rﬂhul nor Sachin 18

(11) Neither
adjudged
the year (R, S).

(iii) 1f John do¢s not lod ’ .
then neither will Peter 1‘1'1V€St1~gaf_c
nor - Harry  will pe. disqualified

W, P, H).

as the best cricketer “of

ge a complaint,

2. (a) What is truth-function? How many
types of basic truth functions are there?
When is an implicative truth-function

false? 2+1+1=4

(b)) Explain the truth-functions of
conjunction, disjunction and implication

with the help of truth- tables. 6
3. (9 Use . tmthtables . to characterise
the following statement forms as
/taut/ologous, contingent or contra-

o dictories . oy 0 E 3+3=6

[ p3lp>(g-~q]

() 1A Band Care true, and X ¥ ang z
:rt: éalse,r determine whether th(,e follow&g \

ments are tme or fajse : 2’*‘22’4 i\f{

) [(X52)5¢)5y

A {C«onanued i) -



4.

5.

(a)
(b)

(a)

( 3)

What is truth-tahle>
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UNIT—III

State the rule of inference by which the

conclusion of the following arguments
premises -

follows from the premise Of
1+1=2

@ (A-B)2C
:.QA.EH:D[04~B)'C]



(4)

(i) A>B
Av(C:D)
~B.~E [ C

6 fa) State the rules of material 1mplxcanoln <
* +
and exportation. =2

Construct formal proof of validity for the |
following arguments : 4+4=8

i () A>~B
~(C-~A)/..CD>~B

gl ®)

(@) A>B
i ; “~A::)C/.'.BVC

UNIT—IV

7. (a) How ményv experimexital methods are
~ there? Who dewsed these methods? 1+1=2

, e {b) \,‘;‘,State and explam the Jomt method of
o ~ agreement and dlﬂerence Mentxon two s
S \‘*‘ments of thls method. Lo B 64»2:8

& S{a) _~‘Explam and dlustrate the method of

o (b) State two merits and two demems of the
R method of agreem nt e \d e o 2+2*4
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